TEST ) 1 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)

—e tAuBELIUs s
(C) Square matrix —/6(%» (D) Diagonal matrix —/6($ s

ce s [ y]m Jed” i

1) Matrix having only one row is called:
(A) Column matrix Jb“uj € (B) Row matrix —6(5/\&

2
Iy Product of [x 7] _; | is equal to:

wlx - 2] @l + 2] ©[2x + ] o [2x - ]
2 6 - s p
) If ‘4 =0, then xis equal to: —e x| x‘=0 Ml
(A) 6 (B) 9 (C) 12 (D) -12
IV) Adjoint of matrix i _01 is: _‘a_.:&’lgéigﬁ _01}_/’9" (v
{o 1 25 5 0 -
(A) | _s 2} (B) L o} (€) {2 o} (D) {_5 —2}
V) B ﬂ is called matrix: —e bl S Ll, ﬂ (v
(A) Identity / Unit &Lw (B) Singular ¢ (C) Diagonal (7 (D) Scalar/kc

VI I D (l)]then find Y r” D (IJ S

(A) 2 (B) -2 (C) 3 (D) -5
Attempt the following questions. 2X7=14 -Q’/J’/@U’}*‘J:L?Jﬂ (2/,‘Ulr
1) Define diagonal matrix and give example. _J";u”'/dl}"wu/.é}/?u(./’l?d}; (
) Find determinant; € {; _32} c :B _32} S (
t 1 0 ! - 1 0 z
) prove that (A’) =A,if A=L 3}. _(A’) =4 J"/:/,L‘MA=L 3} Jan
IV) Find additive inverse 4= > = s av
1 2 1 2
1 23 1 2 3 .
V) Find the product of matrix L 5 6}{31 ‘1‘] L 5 6}{31 ‘1‘] Q/(J’“‘J"lpg}/ v
VI) Find (2)cif C=[1 -1 2] C=[1 -1 2]  Jiy/m=(2)c (Vi
Vi) If A=[_3, ;} then find 4. U A{f, ;} S v
Attempt the following questions. 5X3=15 -Q/J’/.:JUMJ:},?/M (3/.‘Ulr
1) Solve the equations by using crammer's rule. ix - iy - _160 -q/d’/u?!;v;ud/uisﬁ S (A
X — 2y = -
2) Find the value of a,b,c and d. [“*C “*2’)}[0 —7} g daabc (2
c—1 4d-6| |3 2d

e bW U UL 155 B sy b S S 1 (3

3) Any point on the right bisector of a line segment is equidistant from its end points.



TEST ) 1 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option | 1X6=06 uf/@o}bg.,lﬁw/) (1 /,‘U’r‘
I) Order of transpose matrix of the matrix E (1) ﬂ is: _+gJ;KJGJﬁ}£ [? ? j a(
(A) 3-by-1 (B) 2-by-3 (C) 3-by-2 (D) 1-by-3
i) Matrix {g g} is called ___ matrix: -‘awb‘f_’)@_/ {8 8} q
(A) Singular &Lw (B) Zero $* (C) Diagonal (-~ (D) Scalar AE
Il) Order of matrix [2 1] is: —e ek [2 1] tE
(A) 2-by-1 (B) 1-by-2 (C) 1-by-1 (D) 2-by-3
IV) Matrix having same number of rows and columns is called: I S KnlUn Bl 6 (IV
(A) Ident_ity Ol (B) Square df/ (C) Diagonal (s (D) Rectangular uﬁk/ ]
V) Matrix _5;3 ISJ is called ____ matrix. g S {553 131_ (v
(A) Iden*.‘;”’Unit &Lw (B) Zero/Null (4 (C) Singular st (D) Scalar /&C ,
VI) Matrix |©| is called ____ matrix. —e b IE S {0 (v
1 =3 . e
(A) Rectangular Tl (B) Column u) K (C) Both s (D) None %3y
Attempt the following questions. 2X7=14 -Q/J’/.:«UVJ:;L?/M (2/,‘Ulr
-1 1 -1 1 -
I) Find determinant. (2 J (2 J -q/r)’“‘ﬁ‘“' q
1 2 12 .
I) Find transpose C{i ‘01] C=& ‘0'1 _q/'/r)’“‘b;’!/” (n
My ifB=[2 -1 o] thenfind B+[3 2 1] B3 2 —)den=[2 -1 o)A (i
IV) Define scalar matrix and give example. - ;u‘”'ut‘wu /.y /UJ G’/.L.’C (v
-1 2 -1 2 P
V) Find 47" if A{z J AZL J Agled A7 (v
-2 6 -2 6
V1) Find adjoint of matrix L _9} e tig [ ; _9} 5 (VI
5 3 .
VII) Find the product ! 2][_4] iK 2][_4}_4/&*_,/‘)% Vil
Attempt the following questions. 5X3=15 _q)’d’/@um}jgjﬂ (34
1) Find the value of a and b. [178 ﬂ:z[i 4}3[; _”4} S bata gkl (1
4 —
2) Solve by matrix inverse method of 3x+y 95 Q/U"c;u JJ}G/LU).J F (2

BBl ot L3 B B e ol Uy UL AL (3

3) Any point equidistant from the end points of a line segment is on the right bisector of it.



TEST ) 1 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S IIIN (1)
I) Which order is of square matrix? fe KI6U o Lionld (1
(A) 2-by-2 (B) 1-by-2 (C) 2-by-1 (D) 3-by-1
I1) Productof [2 -3] j is: e ALK —3]mﬁ q[
(A) 2 (B) -2 (€) 22 (D) 22
Ill) If determinant of A is equal to zero then matrix is called: -gtM_qG?nd;ViﬂCf‘&KA&JW/i (m
(A) Singular /6 st (B) Non singular /;L‘/:f (C) Common J)’-"/ (D) Non common J)’-"//{
IV) The order of matrix £ =[2] is: -z rK E =[2] 6 (v
(A) 1-by-1 (B) 2-by-1 (C) 3-by-2 (D) 1-by-2
V) Arthur cayley introduced the "Theory of matrix" in: _éU/JJdef’."d/u}.JG'ui_Lé/ /?/T (v
(A) 1854 (B) 1857 (C) 1860 (D) 1865
Vi) (4AB) " equals: _‘L/.'/.(ABY1 VI
A) (BA)" (B) A'B" (€) B'A" (D) None U274y
Attempt the following questions. 2X7=14 -Q’/J’:(:«U’}*‘J:L?Jﬂ (2/,‘Ulr
I _ 30 _ 5 . - _ 30 _ 5 = (I
) If 4 [_] 2},3 u then find AB. ~# ABIn 4 [_] Bl |
I1) Find additive inverse. A{_zz ﬂ A{_ZZ ﬂ _Q/r)’“‘u’:‘;‘d‘f (

my fC=[1 -1 2] then find -2C,
IV) If B{; (IJ then find (B')' =B,

(1 =
V) |fA—{3 4},3

VI) Define rectangular matrix with example.

Vi |12 |46 , p
) If 4 [4 7}and3 L 8 then find (4 + B)

{_03 ;} then find 34—28 .

Attempt the following questions. 5X3=15
1) Solve the equations by crammer's rule 2x -

5y —
2) 4= h ﬂ and 3{_14 :ﬂ then show that ~ (4B)

Ly A DCgec=[1 1 20
(B :BQ/';"/.L“?%B{; ;/; (v

Q/W%A-zB;nA{; ﬂ,B=__°3 I
e S AE I i

4

, . 46 12
(4+B) q/p’-’”;’B—L 8};!/1— 47

v

SIS S s

2y = 4 QIJF}(U;’)VC;JAQ/UJQLﬁ/ (1
2y = -10

gl Q/J“M??nhﬁ :ﬂﬂ’“h (2)} (2

-+l:'yz.J»-fGJld}L/cu;/ufuébﬁﬁaJngb/?Jtd))féb.xgu/ﬁug/fl (3
3) Any point on the right bisector of a line segment is equidistant from its end points.




TEST b 2 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S IIIN (1)
I) Exponantial form of 3/—64 -‘Lyéua}d/ J-64 AU
1 1 1 I
) (—64) ®) (64)" ©) (-4*y% o) ()%
I) Conjugate of (3 + 2i) is; _‘a.%;’?({ B+2i) (n
(A) —3+2i (B) 3—2i (C) —3—2i (D) £3+2i
Ill) The value of ;27 is: ce A
(A) -1 (B) 1 (€) i (D) —i
-1 -1
IV) (25) * equals: el (25} (%
16 g 16
5 4 5 4
™ ® © o -
V) In a triangle, there can be ___ right angles: -ujén,;iﬂi:/’b"_ui&lfw(( (v
(A) 1 (B) 2 (C)3 (D) 4
VI) How many lines can be drawn through two points? ?szétg?‘iﬁ,ﬁiz«.utm) (v
(A) One I (B) Two 2 (C) Three & (D) Infinite sLiy
Attempt the following questions. 2X7=14 -Q‘/J’/.:«Ulrd sounr | K@ /,‘U’r‘
1) Simplify 52 +(5%)° 52 (5% uS”Z
1) Find the value of i°° and (—i)®. _Q/,C}’“‘ufgd/ ()50
4(3)" .. 43)"
) soive by using laws of exponants. 3n+$ )3n -Q/U’:_ud/ufli/ 3n+$ )3n n
IV) Find the value of x and y if X +&+1=4-3i x+iy+1=4-3i ﬂq/?)vf.%?&ymx v
V) Express the unreal number in the form of a + bi where ;Lwl&“"}a,b,éu:"‘iui‘d%r a+ bijfwl(ﬁ’?j (v
a,b are the real number. (2+3i)+ (7 —2i) (2+30)+(7-2i) —Us
VI) What is meant by congruency of triangles? fesly L“,C;a“v&u?‘f’ VI
VII) What do you mean by S.A.S postulate? ?‘L;!/L:(c;y"rKJ.J-J (vi
Attempt the following questions. 5X3=15 _Q:/'/J,}(@U’}”d Pl (3 /‘.’U’r‘
1) Simplify: 216)" x (25" J” @
(0.04)7
2) Solve into x and y. (3+4i)* - (x—yi)=x+yi _J"/J’uf.‘y/;lx/u?bv (2

3) The right bisectors of the sides of a triangle are concurrent. uj‘Ln}ﬁﬂJﬁtd;/LCuﬁiﬁaﬁ»uj (3



TEST b 2 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)
I) The real part of —3i is: _‘Lﬁ(ﬁ?{ =3i (
(A) 3 (B) -3 (C) 0 (D) -1
) Ifz<0then X<y = ___ X<y=__ 3z<0. /1 (Il
(A) xz<yz (B) xz=yz (C) xz>yz (D) None uff&/
lll) Express 4% into radical form. -ufauﬁptéﬂ»ﬁzf 4% (m
(A) 342 B) /42 €) /43 D) /46
IV) Additive inverse of "a" is: -‘Luﬁ”d‘f §"a" (IV
1 1 _
") ®) © - o) ~¢
V) If ___angles of a triangle are congruent, then sides opposite to CWU'J@LM?U;{JG’%M_L&JT’ (v
them are also congruent. -u;'LnJLPf
(A) One I (B) Two » (C) Three & (D) None U27(bs
VI) Symbol used to show correspondence between two triangles: - Cl k@tﬁ“lu lfﬁéj_écﬁzlb'uyuﬁ u?f’» (I
(A (B) <> (C) ~ (D) =
Attempt the following questions. 2X7=14 -Q‘/J’/.:«Ulrd sounr | K@ /,‘U’r‘
I) Express the recurring decimal as the rational number p,q _Q/Q Lﬁuﬁ;lﬁldktﬁwldﬂf a
and ¢#0. 023 0.23 -umwépq #0 ip,q.42
3 , 3
1) Convert into simplest form. 2/3:2 _Q/J“/;u:‘ﬁ(uf D I an
I11) Write the definition of complex number. -q/uy/’&wl&"’}‘ am
IV) Express into simplest ratio. \3/16x4y5 -uf{/:«ﬁé/c{/“vﬁb’/ \ 16x4y5 (v
V) Simplify: ~ (2xTy 7 )(=8x7y?) Yy ™)(=8x7y) S (v
VI) When right angled triangles are congruent? ?ugf}nft:@f u.".ﬂ&';ﬂﬂ!;f’ﬁ’ (Vi
VII) What do mean by H.S = H.S? Sl 5= 85 (VI
Attempt the following questions. 5X3=15 -Q:/J,}(@U’}/Lz Pl (3 /.’U’r‘
1) Solve the following equationsin xandy. (2 =3)(x+ yi)=4+i SISyt Ir S soir (4
2) Solve: @) <@7)" x(60)* S
(18)*x(4) *x(9)" )

3) The right bisectors of the sides of a triangle are concurrent. @Lnﬁﬁwtd;ficwiiéifﬂfr (3



TEST b 2 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 u:/@v}b{b‘,lﬁc/ﬂ
I) The conjugate of a real number is: -+bnbﬁgéﬁ&?7.g a
(A) Natural s (.3 (B) Rational s Pt (C) Real 54> (D) Unreal 1e (3¢
1) Everyrealnumberisa__ -‘a_ug/:‘;(}:';: ([
(A) +ve integerwifc‘? (B) Rational num )ﬁ(}b v (C) -ve integerw(ffup (D) Complex num wu’&/
) Write /X into power form. _u‘f‘{/ﬁpﬁﬂg/z/f (m
A) X ®) x © /7 O /2
IV) Real part of complex number 2ab(i+i%) js; e By zab(i"‘iz)/u“??f (v
(A) 2ab (B) —2ab (C) 2abi (D) —2abi
V) Sum of all three angles of a triangle is ___. - L“n_ﬂfgug;uu;fiw (v
(A) 90° (B) 180° (€) 270° (D) 360°
VI) Number of elements of a triangle: -@Ln_g/ﬁbgig i
(A) One £ (B) Two » (C) Three o2 (D) Four .
Attempt the following questions. 2X7=14 _Q/J’/caﬂlm):}gjp
1) Simplify (*)+x"  x#0 @y +xt xz0 g0
1) Define terminating and non terminating decimal fractions with -Qidc’zﬁ’dfbéfd;’ﬁ’{{(C"”’ﬁ.;/”{'/?(c'g’ a
an example.
IMl) Simplify in the form of @ +bi (2+30)+(7-2i) _Q/;gufdﬁd/ﬁbi (m
IV) Express _% on the number line. -q&tﬁ;cfu//—% (v
V) Write into simplest form.%/% _u:"{/ﬁf(u/ i’/i v
VI) What do you mean by S AA = SAA? ?4‘_;’/96«,1_1_&‘ =, (VI
VII) What is isosceles triangle? Draw diagram. -a"uf?9;yg¢wg§u’d,u (vii
Attempt the following questions. 5X3=15 -u:/d’/oﬂlm):}gjﬂ
1) Simplify it ( a” ]( " ]( a*" ] NSLAC
S || g ||
2) Solve the equations in x and y (B=2i)(x+yi)=2(x—2yi)+2i-1 S S SyxdUn (2

3) The right bisectors of the sides of a triangle are concurrent. uj‘Ln}ﬁﬂJﬁtd;/LCuﬁiﬁaﬁ»uj (3



TEST b 3 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)
) If e~2.718 then loge equals: -~ loge dve~2.718 A
(A) 0 (B) 1 (C) 0.4343 (D) ©
I If y=1log, x then ; : swy=log x /i (Il
(A) x* =y (B) »" =x ©€) x =z D) z’ =x
lll) log 0.001 is equal to: - «lz log 0.001 an
(A) 2 (B) -2 (C) 3 (D) -3
IV) 10g,, 7 can also be written as: _‘Lcﬁ@%‘f S log,n (iv
) (logm)" (B) mlogn () nlogm (D) log(mn)
V) Opposite sides of parallelogram are ; gl Qe Il oS (W
(A) Parallel $J1# (B) Congruent J&L?“ (C) Equal «/ (D) All (L?
VI) Any one diagonal of a parallelogram divides it into triangles. ‘LL“/,*Z:V uﬁu?f’ _m«,u},.,g&/ §C w18 (VI
(A) Equiateral {10/ S5~ (B) Rightangled .s/1246  (C) Congruent 1~ (D) Unequal (sl
Attempt the following questions. 2X7=14 ..u:/w}(caﬂ’}"d}.?}ﬂ (2 /:‘U’r‘
275,000 275,000 .
1) Write in scientific notat : : oot
rite in scientific notation ——— "y u‘”ﬁu" (’ 257
) Find the value of L if 108;81=L log,81=L fiy =2 L 1
Ill) Find value of 1085 2xlog, 81 logy 2xlog, 81 _ ; fobred (i
IV) Prove that 108, (" |=log, m—log, n log, (" )=log,m=log,n ;S IV
V) If 10g2=0.3010 then find value of 10832 I ptred S 10832 5, log2=0.3010 5 (v
VI) Define parallelogram. _q/.éfJCMU’dJlP i
VII) If we draw a line from the mid point of one side of a triangle parallel dﬂr"’&ézg/»&:; Jﬁfﬂ&f@iwﬁ (vn
to the other side, then what will be its relation with third side? e PV O A s
Attempt the following questions. 5X3=15 -Q:/J,}(@U’fd Souxr (3/.‘Ulr
3 2 R "y
1) Use logarithmic table to find the value of (8.97)" x(3.95) Q/pl’”.wj cud/dug({&’ (1
1537
2) Find the value if log=30 log2=0.3010,log3=0.4771,log5=0.6990 /ﬁq/ﬂb"‘:’g (2

- t’n,L‘L&JUJl/LthLu}»LJi L‘&'(j;’/é‘b/z‘d’tﬁgﬂiﬁ (3

3) Any point on the bisector of an angle is equidistant from its arms.



TEST b 3 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)
) If a* =n then:  eat=n N
(A) x=loga" (B) x =logn’ (C) a=logn" (D) a=logn"
Il) The decimal part of the common logarithm of a number is called: _q;é:’f_/ﬁd/iz@(uimu/ n
(A) Characteristic -« (B) Mantissa L% (C) Common g ]-"/ (D) Antilogarithm z@,&
1) log, axlog.b can also be written as . _‘alﬂjwﬂf S log, axlog.b (m
A) log,c B) log.a () log,b o) log, ¢
IV) The value of base "e" is: -+¢£Jeuuﬂ (v
(A) 1.278 (B) 2.128 (C) 2.178 (D) 2.718
V) Medians of triangle are ; -uj‘LnéU@«;Lw (v
(A) Collinear L3 (B) Non collinear k5¢%#  (C) Concurrent 5% (D) None U3
VI) Diagonals of parallelogram intersect each other at ___ points. -ugL/ (‘f’/?latzi_/; /,;Vg},écmw? (i
(A) 1 (B) 2 () 3 (D) 4
Attempt the following questions. 2X7=14 _qfd’/oﬂlrgjj EEyAl (2 /:‘U’r‘
) Prove that log,(mn)=1log,m+log,n log,(mn)=1log,m+log, n j%/q@ Q
ll) Find the value of xif 10gx =2.4543 logx=24543  fi s fed x Q1
lll) Find the value of 108,3xlog,8 log, 3xlog;8 el
IV) Find the value of x if log, 8 =§ log,, 8 =§ /ﬁq//()’“‘dd/x (v
V) Find the value of p. 107 =40 107 =40 /=i dp (Vv
VI) If one angle of a parallelogram is 130° then find the other BL& 1k 1300 Ll KL UL (VI
angles. -U /r)’”a“,;u
VII) Define a rectangle. ML@}JJJ”” (v
Attempt the following questions. 5X3=15 _uj)/d’/owrd Bry 3l (3 /:‘U’r‘
1) Express as single logarithm. log x — 2log x + 3log(x +1) — log(x” —1) _q//;LﬁuﬁJﬁJ(%gﬂy’ﬁ (1
2) Use log table to find the value of (438)°1/0.056 J”/(}V..wfc;ugfdw(%@ (2
(388)*

e bk le UituinL g1 dE L (3

3) Any point on the bisector of an angle is equidistant from its arms.



TEST p 3 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ
1) log,m" is equal to; -cslz log,m" (I
(A) nlog,, a (B) nlog,m (c) mlog,a (D) mlog,n
I1) Logarithm at the base "e"is called ____logarithm: -ug’:i Z@_J’Z@L"e"u‘ L1
(A) Common (L (B) Natural (.3 (C) Anti 4# (D) Single w's
lll) Scientific notation of 96,000,000 is: -‘L_ff }U;‘/L«u( 96,000,000 (N
(A) 9.6x10’ (B) 9.6x10° (C) 9.6x10° (D) 9.6x107
IV) Isequalto___ log,a: ~ezlzlog,a (v
(A) 0 (B) 1 (C) -1 (D) a
V) Opposite angles of parallelogramare __ -ugLn_gﬂj.JJL?L&MUldﬂi’ (v
(A) Congruent J&L?“ (B) Un equal ¢zt (€) 90° (D) 180°
VI) Diagonals of parallelogram are: _ugLn};L&u.'ﬂuldjli’ (i
(A) 1 (B) 2 (C) 3 (D) 4
Attempt the following questions. 2X7=14 _Q/J’/caﬂlm):}gjp
1) Write in the form of sum or difference log(zsz—g% log (2523)% _u:f‘iuﬁdﬁ&}/;garf (
) Findthe value ofx ~ 108,64=2 log, 64=2 -q/'/r)’“‘:»fd/x ]
1) Express the number in common notation 9.018x107° 9.018x107° _u:f‘iuf(f/“(lo (m

IV) Write in the form of single logarithm. 2logx—3logy 2logx—3logy -u:f‘iuﬁdﬁd/(};@m; (v

V) Find the value of x. logx=2.4543 logx=2.4543 _Q/()”ogd/x (v

VI) Draw a parallelogram and draw its diagonals. _Ju},éu,u/w%cwu’uw I

VII) Define quadrilateral. g (v

Attempt the following questions. 5X3=15 -Q/J’/.:«Ulrd SounH

1) Findthe value, where  108=0.048  10g2=0.3010,l0g3=0477Llog5=0.6990 5 7 [obsr=d (1

2) Use log table and find the value of o (WIZIEX 054 J /pl’”.wf cud/d;,«g(%/ € (2
60.8

e bW le UituinL U1 E ot s (3

3) Any point on the bisector of an angle is equidistant from its arms.



TEST b 4 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)
I) @’ —3ab(a—b)—bisequal to: Py a’ —3ab(a-b)-b (I
(A) @’ +b° B) a’ - b’ () (a+b)’ () (a-b)’
Il) The conjugate of surd 9 + /2 is: e ts€9+2 (‘L/;u'» (]
(A) V9 ++/2 (B) V9 -2 © -9++2 0) 9-+2
M) x> —4 is equal to: —eslex® =4 (N
(A) (x=2)(x-1) (B) (€) D) (x+2)(x—2)
IV) The value of (V4 —2)(\/4 +2) is: ce e (W4-2)4+2) Qv
(A) 0 (B) 1 (C) 2 (D) -2
V) If x =3++/8 then the value of % is: _u(m;»j“d/%?nx —34+/8.1 (V
A 3-8 B) -3+8 © -3-8 ) £3+8
VI) The degree of x°y* +3xy + 3’ is: e 2K X"Y 4+ 3xy 4y (VI
(A) 2 (B) 3 (C) 4 (D) 5
Attempt the following questions. 2X7=14 _qfd’/oﬂlrgjj EEyAl (2 /:‘U’r‘
) If x=2++/3 then find the value of % _q/?,l’f%?&%?m:zh/?ﬁ Q
[) R - V3-1 V31 ‘e 1oz (
Rationalize the denominator. Al NP N LUz 7
My Simplify: (/5 ++/3)? CERE) Y- (|
2_4x+ x2—4x+ +
V) Simpiy: 5 S AW
V) Define algebraic expression. -J Sy /J,L?d/! (v
. 3 3 w
V1) Simplify: 1\3/128 1\3/128 g2 W
3 — — — . 3
Vi) %;”find the value where x=3,y=-lz=-2 ,ﬁq/r}'f_wj g %;22 v
Attempt the following questions. 5X3=15 -Q:/J,}(@U’}/Lz Pl (3 /.’U’r‘
1) Simplify: Ja* +2 +Va* -2 NLAC
Ja? +2 -Na* =2
1 1 2 4 o P
2) Perform indicated operation to simplify: x—1 x+1 3241 x4 - //';:_ Jf e > (2

- t‘}'ZC’ U{Jf’tégﬂjm'ywldﬂ/cufﬂ(,uh;éu"ﬁcﬁg/d bufd'.ujv'léd“_ﬂ)u/r (3

3) Any point inside an angle, equidistant from its arms, is on the bisector of it.



TEST b 4 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 ST (1)

1) The generalization of arithmatic is called:

(A) Algebra ! 2/ (B) Equation «sL»
) If x =3 +2 then the value of ¥/ is:

(A) /3 +2 (B) \/3 +2
M)y (a+b)* +(a—b)* isequal to:

(A) 2(a’ —b%) (B) 2(a’ +b°)
IV) The value of a? +b? will be if a+b=10, a-b=6

(A) 36 (B) 62
V) If x=2 and y=-1 then, the value of x3y will be:
(A) 8 (B) -8

Vi) (\/5+\/3) and (\/5—\/3) are ___ of each other.
(A) Opposite /i (B) Surd (’UL&V

Attempt the following questions. 2X7=14
1) Write the definition of surd.
4
1) Simplify: ?3/125
1
1)) o 8x°
Factorize: 27y3
2 35
|V) o 120x"y z
Simplify: ——
Implity 302
Jis
V) Simplifv: Lol
) Simplify: N
1
V1) if x =+/3 =2 then find the value of x ——.
X
15 14
V) Simpilify: %3y 3y 2x
Attempt the following questions. 5X3=15

1) Find the value of & 1 Y7+ 2X jf
2

x>+’ +2° =64

(D) Inequation sl

A d V=2

(C) Expression 0}5

© —/3-2 D) V3 -2
—esz(a+b) +(a—b)’
€) o’ - b’ (D) 4ab
ath=10, a-b=6 J1Swe=d & a2+ 52 (V
(C) 68 (D) 72
e § Xy dny=-Aaix=2 (v
(€) 9 (D) 12

—Q?LL/})V.@ (\/E—\/Z)m(\/g'*'\/z) (VI

(C) Linear Sk’ (D) Conjugate surd (“Los6Esr
SIS S s pine
-y

?3125 g2
S’ P
A A4
120x%y°2° .
3032 N (v
X yz
Jis g
55 AW
-t[/r’“’égd/x—l?nx=\/§_2 /7 i
X
15 14 .
2x—3y 3y—2x LAl
-Q:/Jp}(c'am}"d:i.?}ﬁ
Cxbyrze2 L e SRR (4
1 3

2) Solved it.

NN RN NN )

A Q@

- t‘n’d u{wtLQﬂMyL&JId’u@umgui»&u‘mcﬁi&/@ bufd'-ujv'léd“_ﬂ)u/r (3

3) Any point inside an angle, equidistant from its arms, is on the bisector of it.




TEST b 4 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 u" ;/._Ai.//: m
— 2x+1 2x +1
)} is expression: P4 a
3x+8 3x+8

(A) Irrational JL/
Il) The degree of surd \/; is:

(B) Rational ¢

(C) Expression 0}5

(D) Equation < lsl~

_LLg/)g\/;(ﬁ/lﬁ’ (n

(A) 1 (B) 3 (C) 4 (D) 5

Ill) Which is not a surd? e e (i
(A) 0 (B) 1 ©)3 0 Vz

V) (4+\/§)(4—\/§) is equal to sl (4+\/5)(4—\/5) (v
(AY -7 (B) -14 (C) 14 (D) 16

V) x+; is a form of shape. -L(ﬁ L x+; (v

+

(A)\C Rerinrocal U (B) co-efficient ~(r4 (C) Factor 3,4 (D) Simplest form ¢/ /j

vi) ¢ equals: —c s ; (VI

a+

@) (a-by B) (a+b)’ ©) (a—b) 0) (a+b)

Attempt the following questions. 2X7=14 -Q’/J’/@U’}*‘J:},?Jﬁ (2 /,‘U’r‘
1) Define algebraic expression. _q/.;g}d/xd/é’ q
e 8a(x+1) 8a(x+1) o
1) Simplify: 267D P Al
I1) Find product by using formula: (x* +y2)(x* =x2y? + y*) _q;.,/”c;ud/a.tf an

2 2 co )
IV) Rationalize the denominator 55 55 S g (v
V) Factorize 125x° — 216)73 125x° — 216)/3 u:/df“ (v
VD) Simplity (o —49).5":72 (" ~49).> AR -
X

VII) If a+b=50 and a—b=6 then find the value of (a*+b?) Q//(’L‘”Mfd/ (a2+b?) 3, a—b=6 . a+b=50 J| (v

Attempt the following questions.

1) If p=2- V3 then find the value of

2) Simplify;

5X3=15 SIS e S s
[ Ui p=2-3 4 (1

a—\)az—xz a—+ \jaz—xz

U (@

- t‘}'ZC’ U{Jf’tégﬂjm'ywldﬂ/cufﬂ(,uh;éu"ﬁcﬁg/d bufd'.ujv'léd“_ﬂ)u/r (3

3) Any point inside an angle, equidistant from its arms, is on the bisector of it.



TEST P 5 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)

) Factorsof __ x%+5x+6 are:
A) (x+2)(x+3)

(A) 1652

IV) x> —64 isequalto .

B) (x+2)(x—3)
I1) What will be added to 9a* —12ab to complete the square ?
(B) —16b°
Ill) Factorization of ___ Sa—5b—15c¢.

(A) S(b+a—3c) B) 3(a+b-3c)

(€) (x—2)(x+3)
(C) —4b?

(€) S(a—b+3c)

g pIZl X2 +5x+6 (I

D) (x=2)(x-3)

(D) 40°

L JSCS Al S 907 —12ab (I

~Jtdpetzl Sa—-5b—-15¢ (I

(D) S(a—b—3c)
—e sl X’ =64 (IV

(A) (x—8)(x+8) () (x—8)(x—8) (€) (x+8)(x+8) (D) (x+8)’
V) Symbol used for similarity is: -Laéndvp!yw&gb‘? (v
() = B) ©) = (D) None /e Lt
VI) Similar triangles are of same shape but of different____. -%tnﬂ_d?uf.gﬁJu Cf‘,b'? (Vi
(A) Size #L- (B) Shape £ (C) Symbol =1k (D) None U273y
Attempt the following questions. 2X7=14 _Q/J’/caﬂlm):}gjp
I) Factorize X' =y —4xz+4z° X' =y —4xz+4z° J“/df.” (
l) Factorize  X°+14x+48 x?+14x+48 J/87 Qi
l) Factorize ~ 3x—243x’ 3x—243x 57
IV) Factorize ~ 5x*—16x—21 Sx*—l6x=21  J57% Qv

V) Define a ratio. Write its unit.

ol g Sy e (v
-uf@wauff;&? (VI

VI) Write down the uses of similar triangles.

VII) Find the remainder by remainder theorem when (x—2) s

divided by x* —3x* +4x—14

Attempt the following questions.

S (=) gy b Qe s Gt (i
_Z_lgg(::i x*=3x*+4x—14

5X3=15

1) Factorize

3) The bisectors of the angles of a triangle are concurrent.

SIS e S s

(x+4)(x=5)(x+6)(x—7)—504

RYIRTAC

G S K A 35—k —4k G (4D T (2
2) If (*+1) is a factor of 3x* —4kx—4k> then find the value of k.

_@Lnﬁﬁwtiuguiwu/ (3




TEST P 5 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)

) Factorsof IX+Xy—3a—ay gre

@A) G+y)x—a) (g B-y)x-a)
N @ +b’+3a’b+3ab’ isequalto .

@A) (a+b) @) (a—b)

1) For what value of m, X* +4x +m will be a complete square.

(A) 4 (B) -4

IV) Factorization of X* —4x—21is__.

A) (x+3)(x+7) B) (x=3)(x=7)
V) Congruent triangles are ___in size and shape:
(A) Same (¥L] (B) Different s

VI) Units of ratio are:

(A) 1 (B) 2

Attempt the following questions. 2X7=14

3x'y(x=3y)=Tx*y* (x=3y)
8x+125y°

1) Factorize

Il) Factorize

) Factorize:  128am?* —242an’

x*+x*+25

8(x*+36x%y*+16y*)

IV) Factorize:
V) Factorize
V1) Define a proportion.

VII) Define similar triangles and draw figures.

5X3=15

Attempt the following questions.

1) Factorize:

2) Factorize cubic polynomial by factor theorem

3) The bisectors of the angles of a triangle are concurrent.

(x2 —4x)(x2 —4x—1)—20
30— —12x+4 g SRS A G nF e Sl (2

il 3xy=3a—ay (|
© G+G+a) g G-y(+a)

Ty a’+b*+3a*b+3ab* (1l

) @’ +b’° D) a’ b’
Kbl s X Hdx+m L LS m
(C) 8 (D) -8

gl X —4x =21 (v
(D) (x+3)(x—7)
_gtdn rBseutb e (v

(C) (x=3)(x+7)

(C) Equal l (D) None 3y

_gr kKIS (VI
(€)3 (D) 4

SIS S s
3 y(x=3y)=7x*y* (x=3y) ;s Js7 «
8’ +125" L, J5Z i
128am® —242an*  _SS# (i
xX4xi42s g S8E (v
B(x' +36x° +16y°) L SUF (v
_J IS (v
LBy S St o
SIS S s
¢

_@Lnﬁﬁwtiuguiwu/ (3




TEST P 5 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE I CHECKED BY
Circle the Correct Option 1X6=06 u:/@v}b{b‘,lﬁc/ﬂ
) (a+b)(a’—ab+b) isequalto . —e sl (a+b)a’—ab+b*) (1
(A) @’ =b° (B) (a+b) () (a=by (D) @’ +b’

I1) Factorization of @*—4b%is .

(A) (¢’ =2b°)(a® +2b%) (B) (a* —2b%)(a’ +b?)
) Factors of X*—3x—4 are .

@A) (x=4)(x+1) B) (x—4)(x—1)
V) da’+4ab+ __ isaq complete square.

() @ B) &°
V) Symbol used for congruent is:

(A) = (B) ~
VI) Terms in ratio are:

(A) 1 (B) 2

Attempt the following questions.

I) Factorize x*—18x*+108x—-216
2 bZ
I) Factorize Z—z—2+?
1
) Factorize X4+7—3

IV) Factorize x?—y’—4xz+4z

V) Factorize: 4x* -1 6y2

VI) Define congruent triangles and draw figures.

VII) How many mid points of a line segment may be?

Attempt the following questions.

1) Factorize the cubic polynomial by factor theorem.

2) Factorize.

3) The bisectors of the angles of a triangle are concurrent.

2X7=14

5X3=15

(x+2)(x+3)(x+4)(x+5)—15

~gdramLlat-4bt

() (@*—2b)(a’-2b") (D) (a—2b)(a’ +2b°)

~gd AL X =3x—4 (I
o) (x—D(x+4)
-‘LZJ;/J&_Q 4a*+4ab+ (v
o) (ab)’
_‘a‘EnJL&Iuwé&ﬂP (v
(D) None U3
_utdsrg e (VI

(D) 4

JA87 a
J/s7 Qi
Jg/s7
J/8%E Qv
_J8E v

L eBaig S St S (i
et s L 13 5851 (VI

SIS S s piin
LG AASE G e Ll (1
U872
_@Lnﬁﬁwtiuguiwu/ (3

(C) (x+4)(x+1)

() —b°

12

(C)

(€) 3

SIS e S s
x*—18x*+108x—-216

X' —y*—4xz+4z

4x> —16y?

x+x2—-10x+8




TEST b 6 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 J @a}b{.,«b?://; (1 /,‘U’r‘
) HCFof x> —4 and 2x*+x—6is __. —e bt x2 =4 2x+x-6 (I
(A) (x+2) (B) (x—2) (€) (2x+3) (D) (2x-3)
) LCMof 30xyz, 45xy and 15x%is __. —e PIbinsE 30xyz 51 45xy,15%° QI
(A) 90xyz (B) 90x’yz (€) 15xyz (D) 15x%yz
1 a 1
M) Simplify —— i s an
) S|mp||fy 9a2_b2 +3a—b IS . -‘L/L«F)'g 9a2_b2 +3a_b,-l’7o
4a-b 4a+b 4a b
A —— B) —— C) —— D) ——
A 9a* - b’ ) 9a* - b’ ) 9a* - b’ ) 9a* - b’
1 1
IV) The square root of X" +?+2 is . _‘L&/U,Zg{ x* +x—4+2 (v
A) i(x+lJ (B) i(x-lj ) i(xuizj D) i(xz—%j
X X X X
V) In right angled triangle side opposite to right angle is called: -‘LL“U‘«@"UU&L«L,M:f’b“ui‘w,;lﬂl;/’@ (v
(A) Base o4& (B) Perpendias s+* (C) Hypotenuse (D) None U d/

Vi) In a right angled triangle if the two sides are 9cm and ‘gﬂbu'/fﬂmf‘l2/J'K9UQHJCW’»£wg!’ﬂ'“/@/’ (Vi
12cm then third side will be:

(A) 10 (B) 13 (C) 15 (D) 17
Attempt the following questions. 2X7=14 -Q’/J’/:«U’/Qf sounr | K@ /,‘U’r‘
I) Find the square root by factorization. 4x* —12xy+9y? Q/})’”d/ugpdfng/lg (
Il) Find L.C.M by factorization. 4x* =20x+25,12x* =75 _q/rkﬁf.",:uj,ﬁqwus n
2 2 2 2
"I . . X +x_6 X _4 X +x_6 X _4 o ("I
) Simplify. xz—x—6xx2—9 xz—x—6xx2—9 -Q//i
IV) Find HCF. 12x°—-96,8x*-128 12x°-96,8x*-128 _q/?’}’“‘(ybla av
1 a+1 a+l1 z 1
ind — A="" A=""" —
V) Find - then - = /u/r,bfA (v
VI) State pythagorous theorem. -q/ug@/f e (v
V") Find x. Bk 10cm -Q/?)’/X(Vll
Attempt the following questions. 5X3=15 ..u:/g)p}(caﬂlrd:}.?}ﬂ &} /:‘Ulr‘
1) Find the square root by division method. ~ 4+25x* —12x —24x> +16x" _Q/(Pd/l/jgﬁ}gzlg (1

x+3 x+2 x+1 .
+ + - "’ 3 .
x*=3x+2 x*-4x+3 x*-5x+6 Q/r"b%" Ko (2

SUsale 3 (s BAL DU sl 155 SHFL Susthsnsc62 JEIE WS35 C oG5kl (3

3) Parallelograms on the same base and between the same parallel lines (or of the same altitude) are equal in area.

2) Simplify the following.



TEST b 6 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)
I) The squarerootof a* —2a+1is__. _+&/I/jgg a’-2a+1 A
(A) t(a+1) B) (a—1) (€) a+1 D) a—1
2 2
N ciapin, & +5a-14 a+3 _ - a“+5a-14 a+3 a
) Simplty g a2 —— A TR a2
a+7 a+7 a+3 a-2
A B D
A a—=6 B) a-2 ©) a—=6 ) ) a+3
M) HCF of 91x°y°z" and 39x" )’z is __. —e bl 397’z 5191y 27 Qi
(A) 13x°y°z (B) 91x°y°z (C) 13x7y°z? (D) O1x"y°z?
IV) LCMofx-2and x> +x—6is ___: —e PISk236 X7+ x—6.51x-2 (IV
(A) x+2 (B) x-2 (C) x+3 (D) x*+x—6
V) In right angled triangle, the right angle is: - L"n,;u,»”b“ui‘w,;lﬂlrﬂ? (v
(A) 45° (B) 60° (C) 90° (D) 120°
VI) Sum of three angles in a right angled triangle is: -‘Lt'}’l,&!‘{ KUy sl el s 1246 (VI
(A) 90° (B8) 180° (€) 270° (D) 360°
Attempt the following questions. 2X7=14 ..u:/w}(caﬂ’}"d}.?}ﬂ (2/:‘U!r
) Find L.CM 39x7y°z,91x°y 2z 39x7y3z,91x°y 2 _Q/r)vqﬁ_jw’,j a
) FindHCF  102xy°z,85x%yz,187xyz? 102xy°z,85x%yz,187xyz* _J/'[C,Lv(ﬁ’;,u an
1 1 1 1 1 1
1) Find square root. Exz—ﬁxy+%yz Exz—ﬁxwr%yz Al
2) Find L.C.M by factorization. x*+25x+100,x* —x—20 _q/?k*ﬁ.swmuf;g/; (2
) ) -8 ¥ +6x+8 -8 x*+6x+8 o
V) Simplify: —— x 2+ ! o 2+ h _g/}f (v
x =4 x"-2x+1 x =4 x -2x+1
VI) What is inverse pythagorous theorem? ?;.L[@,f QUPJG i
VI gy & LA x
Attempt the following questions. 5X3=15 _ujfd’/oﬂlm):}gjﬂ (3/:‘U!r
2 2 st
1) Find the square root by division method. 4yi2+2%+13—307y+9xi2 _u:/r)h”d/’/lgf:ﬂ{’/;f (1
2) Find H.C.F by division method. % +3x? —16x+12,x° +x* —10x+8 U (2

Susaa i Ureale I DU C sy 16 SHEL s bais6a JEIL WS C oot S fl (3

3) Parallelograms on the same base and between the same parallel lines (or of the same altitude) are equal in area.




TEST b 6 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)
I) What should be added to X* 464 to make a perfect square? -L@w&/ﬂL@gﬁgui x*+64 1z (1
(A) —8x’ (B) 4x’ (C) 8x’ (D) 16x°
) LCMof 39x"y°Z ang 91x°y°z"js . e i 397’2, 91x°y°2" i
(A) 273x7y°z’ (B) 273x7yz° () 273x°y°z’ o) 273x°y’z"
INl) The square root of 25x* +64—2(40x) is . —e GALk¥ 25x* +64-2(40x) (i
(A) £(5x—6) B) £(5x+6) (€) £(5x—38) (D) £(5x+38)
IV) Methods to find H.C.F are; AL S (W
(A) 1 (B) 2 (C) 3 (D) 4
V) In right angled triangle the greatest side is called: -wifé};‘zc%/uﬁwfﬁl;f@ (v
(A) Hypotenuse (B) Perpendicular »+* (C) Base sx & (D) Anyone f&/
VI) In right angled triangle the sum of the squares of smaller sides equals -‘a/.!/.wf §UP Pl Wl d_ U a2 (VI
(A) Hypotenuse s (B) (71?2 (C) (on)? (D) (1F)?2
Attempt the following questions. 2X7=14 -Q’/J’:(:«U’}*‘J:L?Jﬂ (2 /,‘U’r‘
1) Find H.C.F by factorization. X*+5x+6,x" —4x—12 U s A e
Il) Find L.C.M by factorization. 2x'=y"),3(x + 206y =1 =2y") e fisunis g Q
2 2
"I . . a+b N a _ab a+b - a _ab PO ("I
) Simplify. a*—-b* a*-2ab+b’ a*—-b* a*-2ab+b’ ‘u’:/;jj
IV) Find the square root by division: 4x*-12x+9 4x* —12x+9 _Q/?)’”&/U,ng:},g/,} (v
V) Find H.C.F by factorizatic. ~ 102xy°z,85xyz 102xy°2,85x% vz _ s Apan (V
VI) Find hypotenuse when base=16¢cm , perpendicular=30cm ‘%”f =30cm «xF=16cm ,?.q/p"‘“‘/“; VI
VID £y & - x i
Attempt the following questions. 5X3=15 -Q‘/J’/caﬂlrd Sounr (3/.‘Ulr
2 2 o
1) Simplify: L e B i G

3y2 —-13y+4 . 6y2 +y-1
2) Forwhat value of k, (*+4) is H.C.F of X%+ x—(2k +2),2x° +hx—12 < ol (x+4) z&Q&/JK (2
Sus et Ureale AL DU C sy 186 GHEL S baisba JEAL oS5 C oot S fl (3

3) Parallelograms on the same base and between the same parallel lines (or of the same altitude) are equal in area.



TEST » 7 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)
I) Ifxisno larger than 10 then__. __?n462410¢gd/x/7 q
(A) x>10 (B) x<10 (€) x>8 D) x<10
I) The value of xin /2x—3=7is__ . -‘abwfu(xui' V2x=3=7 Il
(A) 25 (B) 26 (€) 27 (D) 28
I) Which of the following is the solution of the 3—4x <11is__? 6 fE 3—4x <11ebleFoelid (NN
(A) -2 (B) -8 © % (D) None U3
IV) x=0 is a solution of the inequality. - ug K:gd’ﬁ_abl//f x=0 (IV
(A) x>0 (B) 3x+5<0 (C) x+2<0 (D) x-2<0
V) Set of points which lie on same line are called___. -@Lm@n{&uw.gzqm}@ (v
(A) Origin i~ (B) Ordinate 35,7 (C) Proportion ¢4/ (D) Collinear =4
VI) In point P(x,y), x is called: S X2 P(xy) £ (VI
(A) Ordinate 3,7 (B) Abscissa L+ (C) Vertical point L5, (D) Horizontal point Nyl
Attempt the following questions. 2X7=14 _qfd’/oﬂlrgjj EEyAl (2 /:‘U’r‘
-3 -2 -3 -2
) Solve the equation. XT—XZ =-1 x3 _x2 =-1 g/ el
Il) Find Solution setof ~9—7x>19-2x 9-Tx>19-2x  _Jeesf
lll) Find Solution set. |3+ 2| =[6x—7) Br2x=lox=T7] ks Qu
-2 -2 .
IV) Solve the inequality. —6< a B 6 —6<> B 6 S en g (V
V) Solve. V2-1=32-28 P—t=Y2t-28  _ySF v
VI) Define ordinate. _Q/;yfgf&;:fﬂ vi
VII) Find the value of m & c by expressing in form of y=mx+c. ()’”;wac 22im /mﬂufdﬁd/y=mx+c (vn
2x-y=7 2X-y=17-] e
Attempt the following questions. 5X3=15 _uj)/d’/owrd Bry 3l (3 /:‘U’r‘
2 1 1
1) Solve the equation. X TSX=xE A e (1
2) Solve. Bx+14|-2=5x LS @

Ut S E DN G L Uswtisy (3

3) Parallelograms on equal bases and having the same (or equal) altitude are equal in area.



TEST » 7 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)
1) Solution set of 9-7x>19-2x is: _‘aqd’ §9-7x>19-2x (I
(A) x<-2 (B) x>-2 (C) x<2 (D) x>2
I1) Which is the solution of inequality 3<7+2x is__. ce e fE 3T+ 2x bl Bl QN
A) 2 (B) 4 (©) 8 o '%
M) [2x—3|=35 is equivalent to: ce b 2x=3)=5 (u
(A) —(2x=3)=5 B) —(2x+3)=5 (€) (2x+3)=5 (D) £(2x—3)=5
IV) V3x+4 =2 inequaltox___. —edax i N3x+4 =2 (IV
@ {1 ®) {0} © {1} o) {2
V) If y=2x+1, x=2 then y is equal to: —sl2yPny=2x+1, x=21 (V
(A) 2 (B) 3 (C) 4 (D) 5
VI) Atriangle is formed by _ non-collinear points: -%@Lﬁwbﬂﬁ% wug (i
(A) 2 (B) 3 (C) 4 (D) 5
Attempt the following questions. 2X7=14 _qfd’/oﬂlrgjj EEyAl (2 /:‘U’r‘
I) Solvethe equation.  2vf+4 =35 2Vt+4 =5 g/l
||) Solve the inequation. 4x-10.3<21x-1.8 4x—-10.3<21x-1.8 _u;/f;,l;[,/ﬁf’ ("
) Find Solution setof | 2X+5|=11 2x+5[=11 ke f Qi
3 3 3 3
IV) Solve the equation. y_1—2= yfl ﬁ—2=y—f1 g St IV
V) Solve, [X+2|=3=5—|x+2] x+2|-3=5-|x+2] JSF
V1) Define cartesian plane. _q/..éf /U di‘“”d’gb/ i
V) Define origin. Sl Ueslir (VI
Attempt the following questions. 5X3=15 -Q:/J,}(@U’}/Lz Pl (3 /.’U’r‘
3-5x] 1 2
1) Solve. 1375 A (™
2) Solve the equation. Q—x =1 —g g e (2

UG D S Lt ST (3

3) Triangles on the same base and of the same (i.e., equal) altitudes are equal in area.



TEST » 7 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)

3 .
e e L 2<x <t

3
) The element of solution set of inequation —2 <X < 5 is:

W % (B) 5 €3 )0
ll) The solution set of [X—4{=—41is —cesf¥x—4=—4
(A) ) (B) 8 ()-8 (D) -16
I1) Which of the following-number is a solution of inequality 3—4x <11 ‘a..:.{d"( 3—4x<1 louu/ému/z, oedses AN
(A) -8 (B) -2 ) -4 (D) None L0
IV) The solution set of 3x-9=3 is : ‘e SE3x-9=3 (IV
(A) 3 (B) 4 (C) 6 (D)9
V) Points of origin are: _ug;ub/fifbgf (v
(A) (0,0) (B) (1,1) (C) (0,1) (D) (1,0)
VI) x=3 is parallel to axis. -L/»(i < $i#x=3 (VI
(A) X (B) y (C) both Ushs (D) None L0
Attempt the following questions. 2X7=14 -Q‘/J’/.:«Ulrd sounr | K@ /,‘U’r‘
1) Solve the equation.  ————=" 58 g e A
I1) Find solution set of |4x+5‘:|8x—3‘ [4x+5|=[8x—3] _Q/'/(J’“‘:{J’ n
x-3 x-2 x-3 x-2
el i il S
) Soive. — S : 5 A
IV) Solve the equation.  3/3x+5 =3/x—1 Y3x+5=3/x-1 g/ el (V
V) Solve the inequation 3x+1<5x—4 3x+1<5x—4 SIS ehld (v
VI) Draw the graph. ~ y=2x y=2x -u Lo (v
VII) Define abscissa. g3 e (VI
Attempt the following questions. 5X3=15 _uj)/d’/owrd Py 3l (3 /:‘U’r‘
3x+2 2x+1 .
1) Solve the inequality x; - x; =i SIS end (4
2) Solve the equation. AL U g e (2
2x+5 2

e A DL S Lt S LT (3

3) Triangles on the same base and of the same (i.e., equal) altitudes are equal in area.



TEST p 8 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE DATE I CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,lﬁw/)
1) Distance between points P(1,2) and Q(0,3) is: -‘L,Lwlsul“fwéQ(OB)Ale 2)56
(A) V1 (B) /2 ©) V3 (D) V-2
Il) Two or more points lie on the same line are called: -U‘Lw/u;’d’)/L?U"JYLWML/L»L» n
(A) Collinear L% (B) Non collinear bﬂ/f (C) Horizontal line Juf I (D) Vertical line SIS
II) Mid point of the points (2,-2) and (-2,2) is___. e Bk (2,-2)5(-2.2)6 (NI
(A) (1,1) (B) (0.0) (C) (-2-2) (D) (2.2)
IV) A quadrilateral having each angle equal to 90° is called: -+8M_n 90° ,;U/;Ku%:g;ug (v
(A) Trapezium .Js3 (B) Parallelogram & ey sk (C) Rhombus u'f/ (D) Rectangle J’»ﬁ/
V) _ altitudes of an isosceles triangle are congruent: _Q!LnJ&L?*CLQA_qug DIl (v
(A) 2 (B) 3 (C) 4 (D) None L0

VI) If the two medians of a triangle are congruent then triangle will be: _Jn_wo,?unJ“wéu«,,;Lw.gﬁ (v
(A) Isosceles ¢ LISsL3  (B) Equilateral { woUi@sl+  (C) Rightangled #7246 (D) Acute angled 4slisslo

Attempt the following questions. 2X7=14 _qfd’/oﬂlrgjj EEyAl (2 /:‘U’r‘
1) Define scalene triangle. _q/bgichmuﬁé q
Il) Find the distance. A(-8,1), B(6,1) A(-8,1), B(6,1)-Q/(}L’”JJG (i
lll) Find the distance. a=-9 , b=-4 a=-9 , b=-4-‘_[/r)’”,1#b’ Cm

IV) Find the mid point of A(-7,-5) and B(-5,-7) -q/?)’d&i&w{ A(-7,-5),B(-5,-7)5 (IV
V) What is meant by incentre of a triangle? <ol /U/:./}d;u ICeds (v

VI) Construct a right angled isosceles triangle whose GUJ/;EJ l/.«lwu‘ WISsbag sl 1226 L1 (VI

hypotenuse is 6.2cm. ~»6.2cm

VII) Construct AABC in which mCA=5.2¢cm, cmCA=52em AU & AABC (VI

mBC =4.2cm and mAB =3.2cm. ~vmAB=3.2cm»#'mBC =4.2cm

Attempt the following questions. 5X3=15 _uj)/d’/owrd Py 3l (3 /:‘U’r‘

-uftwiuwawaA(\/gal)aB(ﬁa—l)0(0,0)LW¢/QM7 (1

1) Verify whether or not the points 0(0,0), (\/_ 1) (\/_, ) are the vertices of an equilateral triangle
_uﬁi{ﬂtéug;l/’-ﬂ mZB =75 5 mBC =4.2cm .mAB=3.6cmt > = AABC (2
2) Construct AABC in which mAB=3.6cm, mBC =4.2cm and mZ£B =75 Draw the bisectors of the angles

3) Triangles on equal bases and of equal altitudes are equal in area. -ug‘dn/.i/.uﬁ,i/ufw sl Ussebsls (3



TEST p 8 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35

NAME ROLL NO SECTION
TEST TYPE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,lﬁw/)
) Mid point of the points (2,2) and (0,0) is: B Sl (2,2).51(0,0)56 (I
(A) (-1-1) (B) (0,1) (C) (1.0) (D) (1,1)
I) Atriangle having all sides equal is called: _‘Q&M/_o;nzizdwd/ﬁwiufﬁfw.g n
(A) Scalene & UsUi_id¥?  (B) Iscoceles oA LIGsLE  (C) Equilateral £ 4ol (D) None 70
lll) Distance between points R(3,-2),5(-1,3) is: -‘L.J»JGu,l,m;LR(B,-Z),S(-1 ,3)56 (N
(A) V2 B) V-3 € 13 0) /41
IV) A triangle having two sides congruent is called: :LL&MunJ&U*CWi;;ﬁu%w v
(A) Rightangled -s./1=#6 (B) Scalene { oy il¥ (C) Isosceles Jw‘; VIgsl> (D) Equilateral { ouf($sl~
V) A quadrilateral having all angles equal to 90° is called: -‘QJJ}‘&K 90° ,;ljﬁﬁ?/;’;;ufi (v
(A) Rectangle J’»ﬂ/ (B) Trapezium i3s3 (C) Rhombus u’i’/ (D) Parallelogram { W= i($/5*

VI) If the three altitudes of a triangle are congruent then triangle will be: -u(n_wu?unf&“ EuEL .:J:‘»..Q/T (i
(A) Equilateral { tkeyi$sl~ (B) Rightangled ~s.71=46  (C) Isosceles ¢ LISsLs (D) Acute angled 4slinslo

Attempt the following questions. 2X7=14 _q/J’/c,mij B
1) Find the distance between the pairs of points: A(-4, \/5 ), B(—4,-3) g //(Pyﬁuyz;éu;jﬁéwi (
Il) Define right angled triangle. _J”/..y/?d/w,;lﬂl:i@ (i
Ill) Find the distance. a=-2 , b=-3 a=-2 , b=-3_( /el (I

IV) Find the mid point between points (2,-2) and (-2,2). -q/?)%ﬁ Ok (-2,2)1(2,-256 (IV
V) What is centroid of a triangle? ?‘LW}QK&& (v

VI) What is orthocentre of a triangle? fe L[}Zu’;/ kel (VI

VII) Construct AABC in which mAB =3.6¢cm, cmAB =3.6cm AU J L AABC (VI

mZA="75 and msLB =45° vmLB =45 »smLA=T75°

Attempt the following questions. 5X3=15 -Q/J’/.:«Ulrd SounH

CUTLE B (1 (4,10)91(-2,-8),(1, ) ES e sa S (4

1) Use the distance formula to prove whether or not the points (1,1),(-2,-8) and (4,10) lie on a straight line or not?
_uﬁi{awiw.n mLX =75 ,mLY =60° .mYZ =4.10m 4>y « AXYZ (2

2) Construct AXYZ inwhich mYZ =4.1m, mZY =60° and mZ£X =75° Draw the medians of the triangle.

3) Triangles on equal bases and of equal altitudes are equal in area. -ug‘dn/.i/.uﬁ,i/ufw sl Ussbslz (3



TEST » 8 MATHEMATICS 4 9th P (L) gualiy T.MARKS @ 35
NAME ROLL NO SECTION

TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY

Circle the Correct Option 1X6=06 uf/@a}b{.,lﬁw/)

1) Distance between A(0,0) and B(0,-5) is: -+JwGuyJJLA(O,O),B(O,-5)LL25 a
(A) 5 (B) -5 €) V5 D) V-5

II) How many right angles in a parallelogram are? ?@Lna“_;lﬂlr.il?i/uﬁéwuidﬂi’ug ([
(A) 0 (B) 1 (C) 2 (D) 3

lll) Distance between points (0,0) and (1,1) is: -‘L_.J»"GUE-’/)L('],'] ).21(0,0)56ss (Il
(A) 0 (B) 1 (©)2 0) 2

IV) A triangle having all sides congruent is called:

(A) Equilateral & Uz yi$sl~ (B) Scalene { w2yl s*
V) Diagonals of parallelogram ___ each other.

(A) Bisect 32" (B) Trisect &t

VI) The medians of a triangle cut each other in a ratio:

e e wiuEL et (v
(C) Isosceles ¢ZLigsL+ (D) Rightangled o sl/1=76
LS S Bl weniSa (v
(C) Right bisection —<"$»+* (D) None U703y
-ugL/ﬁbﬁMJ_L/»ugéw;Lw (v

(A) 4:1 (B) 3:1 (C) 2:1 (D) 1:1
Attempt the following questions. 2X7=14 _Q/J’/caﬂlm):}gjp
1) Define collinear points. _Q/..Q/.Jd/bkébﬂ q
I) Define square. _quyfgfd/ n
Il) Find mid point of A(2,-6) and B(3,-6) -Q/()’”Jf’u]&yAKA(Z,-&,B(3,-6)Jz>’.zh3 an
IV) Define isoceles triangle. _Lg/_g/Jw& WIigsLs (v
V) Find distance between point A(0,0),B(-4,-3). _Q/r)’”,l-ib’uyALA(O,O),B(-4,-3).1;L35 (v
VI) What is circumcentre of a triangle? fe L[ﬂ}o/lfhulﬁ I
VII) Find the mid point of the line segment joining the pair of J"/()L’”,E'J [}.l{w Kl abie o 1dUssn b6 (VI
points. A(-8,1),B(6,1) A(-8,1),B(6,1)
Attempt the following questions. 5X3=15 -u:/d’/oﬂlm):}gjﬂ

UL bl 1126 L1(-2,6).51(4,2),(1,3)bE LI S e (4

1) Show whether or not the points with co-ordinates (1,3),(4,2) and (-2,6) are vertices of a right triangle?
e b UL (91) 4B T)bERK) B e d S KAE (2
2) Find K, given that the point (2,K) is equidistance from (3,7) and (9,1).

3) Triangles on equal bases and of equal altitudes are equal in area. _ugdn/.l/.uﬁ,i/u.‘fp WG lussbsls (3





